46

N =ik—)UR

7ot — AHDYU—X
¥ =ih—IUR 3 =ih—JUR -k 2 =h— K
(45E) (6:&8) (85&) g 2X¢5.5
ot (45%) e £XOO05
It
PT1./8%6 | 2xe¢10
4XM5X6
N5z
TN
® = L
] ]
> N N = 20 :7:
32 14
AHDM4 AHDM6 AHDM8
28g 37g 45g
Mg A5052P A5052P A5052P v=FR=IVR
1,500/ 1,600/ 1,800/ (63E) _ 2%¢55
et
MEEMTE, EHIh TV E A, (P.531EH)
(BERREI) @Eﬂ =
PT1/8x6 |- 2X¢10 4XM5x%6
2R =TI
*PLG6—4 P.53 | [a\ Ll
\ ‘ J “
o }
q‘ T
v Zk— |
AHDM4
_ 20 id
32 14
2=F=IVR

(R=h—IUREREY N
(TAFE=Y I \VRILEE)

4—
*CAPM8—25Z

27D 4=
130P5151 *SW—M12Z

@307y v—
122P0191
WF RARMFAN—IIZ21T

*POC4—M5M

L¥ 2L~ (5—ff)
*RVCM6—01

4—
*CAPM12—40Z

LA (1T 847)
7 ¥sR-01

TI7INIVT
*181-E1PS

2R-uTIL
*PIG6—4

TILK
*PL6—01M

i HFE AARA RN —PI=51T
*POC4—M5M

LM 2 IMEX15
*CAPM5—15N

(83#) 2X$5.5

PT1./8%6 AXM5X6

_ 20 |
32

} 0T I\
7 .
b ===




